v. Geometry S.b- Hinge Theorom, Koy

Compiete with <, >, or =,
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@ ; 3"—‘?‘“ i AﬂE:’F, Dilf is a median. Determine if each statement is ajways,
AN sometimes, or never true..
7. HmZ2>ml1 then ED>FD. Noye | F
8. IfmZE>mLF, then 21 is obtuse. Seme 41 me, /,. '
8. If£21sacute. thenmsF > mlE. /% /wff:/j D o f !
10. ImlE<miF thenmsl <msl. /\jgng-gr T
11, 1ms2>ms 1, then ED> FD/Yever | E

12, [fmsD =00, thenFD>ED. oy s,

Use the Hinge Theorem or its converse and properties of triangies to write

and solve an inequality to describe a restriction on the value of x.
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Us_e the Hinge Theorem or its converse and pfuperﬁies of triangles to write
and solve an inequaiity to describe & restriction on the value of x.

13, ?}X‘- L{>3g 14,

g}( o

L

Wiz& Swef
2 n

re
éf»{)

14. Fishing Contest One contestant in a catch-and-release fishing contest spends the i
morning at a Jocation 1.8 miles dae north of the starting point, then goes 1.2 miles ;
‘due east for the rest of the day. A second contestant starts out 1.2 miles due east of # Ry
the starting point, then goes another 1.8 miles in a direction 84° south of due east to B
spend the rest of the day. Which angler is farther
the day? Explain how you know. / i}
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5. Sailing Two families are going sailing. Family A leaves the marina and sails I 4
2.3 miles due north, then sails 3 miles due west, Family B leaves the marina and 23
sails 2.3 'miles due south, then sails 3 miles ina direction 1° north of due east. .1
Which family is farther frop the marina? Explain your reasoning. P e s

in Exercises 16-18, write an indirect proof,
16. GIVEN: AJKL is 2 scalene triangie.

PROVE: No two angles of AJKL are congruent. r
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1. Suppose x and y are odd. Prove xy is odd. (Hint: An odd number can be
written as 2m + 1, where m is an integer.)
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